

## TELAR TRITRIX

International Community

TELAR TRITRIX is a unique designed decentralized smart contract concept, in which the earning is very huge and every bonus get repeated times also the payments are released instantly which make it trustworthy and long lasting the concept is designed on spot structure where everyone can earn big and fast this platform is equally yielding for those who do not have teams or investors however the network builders will also be rewarded for their extra efforts the different packs have been designed to cater every section of the society, bigger the pack, bigger the earning the community will support every member directly or indirectly this is how TELAR TRITRIX is a serve and to be serve concept join earn, become rich and give others the opportunity to become rich best wishes for your bright future.



# EXPLANATION - TELAR TRITR

TELAR TRITRIX offers an innovative earning opportunity where participants can earn unlimited USDT (BEP20) with a small initial donation. The program is structured around a six-level progressive matrix system, allowing members to earn through direct referrals and matrix completions. As users advance through the levels, their earning potential increases, rewarding active participation and network growth. This system incentivizes both individual efforts and collective success, creating a dynamic environment for members to maximize their earnings while contributing to the platform's expansion.

#### ONE-OF-A-KIND MOBIUS LOOP SUPER TECHNOLOGY

We each do a little so everyone receives a lot. There are so many ways to earn, the donations might never stop coming and you can earn unlimited **Dollar BEP 20** 



## WHAT WE SERVE

Global Peer - To - Peer Team Crowdfunding Program





# TELAR TRITRIX MERITS

- No Administrators Involved.
- Completely Ownerless System.
- Automated and Instant Payouts.
- Fully Decentralized Platform ( 100% ).
- Total Distribution Transparency.
- Guaranteed Risk-Free Experience.



# SPECSPOTLIGHT

- Single-Time Investment
- Endless Rewards
- Earnings for a Lifetime
- Unlimited Validity, No Limits
- Worldwide Passive Opportunity
- Full Profit Allocation





ACHIEVE
CONTINUOUS
DONATIONS IN
3 EASY STEPS!

1

### **SIGN UP AND START:**

Activate your journey with a \$6 donation.

 $\left(2\right)$ 

#### **INSPIRE OTHERS:**

Invite 2 or more friends to join as active donors.

3

#### **MULTIPLY THE IMPACT:**

Your network grows as your 2+ invite 2+ each.

Receive blessings and donations on repeat—forever!"



ELAR

# IGNITE PACK



\$5 Global Matrix Lo

\$1 Lotto "Invest wisely in crypto—start small, verify trustworthiness, and upgrade your pack as soon as you're confident!"

When you contribute \$6, \$5 is allocated to the Global Matrix, while \$1 is directed towards the Lotto process.





# WHAT IS "TELAR TRITRIX"?

6 MATRIX

3 LEVELS

UNLIMITED \$
DOLLAR

"Crypto made simple: start with baby steps, check reliability, and upgrade when you're sure!"







## ELAR

## NEXTGEN ENTRY

Buy Maximum Pack For Gain Maximum Profit Upto Life Time, You can purchase all the packages one by one

By contributing to all packages, \$1 from each contribution is allocated to the Lotto Process.

### MATRIX 1 \$6

**COMPRISES OF 3 LEVELS** 

EARN UNLIMITED TIMES

MATRIX 2 COMPLETES: \$160.

2 DIRECT PARTNERS ARE NECESSARY

**SELECT PACKAGES** 

### MATRIX 2 \$16

**COMPRISES OF 3 LEVELS** 

EARN UNLIMITED TIMES

MATRIX 2 COMPLETES: \$310

**2 DIRECT PARTNERS ARE NECESSARY** 

**SELECT PACKAGES** 

### MATRIX 3

\$46

**COMPRISES OF 3 LEVELS** 

EARN UNLIMITED TIMES

MATRIX 3 COMPLETES: \$930

**2 DIRECT PARTNERS ARE NECESSARY** 

**SELECT PACKAGES** 

#### MATRIX 4

\$136

**COMPRISES OF 3 LEVELS** 

EARN UNLIMITED TIMES

MATRIX 4 COMPLETES: \$3495

2 DIRECT PARTNERS ARE NECESSARY

**SELECT PACKAGES** 

### MATRIX 5

\$406

**COMPRISES OF 3 LEVELS** 

EARN UNLIMITED TIMES

MATRIX 5 COMPLETES:\$ 10200.

2 DIRECT PARTNERS ARE NECESSARY

SELECT PACKAGES

### MATRIX 6 \$1501

**COMPRISES OF 3 LEVELS** 

EARN UNLIMITED TIMES

MATRIX 6 COMPLETES: \$44500

**EQUAL OPPORTUNITY - GLOBAL** 

SELECT ENTERPRISE

Upon completing Level 3, the system automatically upgrades to the next matrix. If the upgrade is performed manually, the payment is credited to the wallet. There is no deduction for Lotto Flicker during the automatic upgrade.

### ELAR

#### 2 DIRECT REFERRALS ARE NECESSARY

LEVEL	MATRIX	AMOUNT	TOTAL AMOUNT	UPGRADE	REBIRTH	PROFIT	DIRECT
1	2	\$5	\$10	\$10			2
2	4	\$10	\$40	\$20		\$20	
3	8	\$20	\$160	Matrix 2 \$15	1	\$140	

TOTAL PROFIT: \$160 (OnRepeat)

Note: One time \$5 BEP20 deduction for Guider Bonus generation in the level 1 of Matrix 1.

Comprises of 3 levels, and one can earn unlimited times from the same matrix. Profit earned every time when Matrix 1 completes: \$160 and 1 Rebirth ID in same Matrix.

### 2 DIRECT REFERRALS ARE NECESSARY



LEVEL	MATRIX	AMOUNT	TOTAL AMOUNT	UPGRADE	REBIRTH	PROFIT	DIRECT
1	2	\$15	\$30	\$20		\$10	2
2	4	\$20	\$80	\$40		\$40	
3	8	\$40	\$320	Matrix 3 \$45	1	\$260	

TOTAL PROFIT: \$310 (OnRepeat)

Note: One time \$15 BEP20 deduction for Guider Bonus generation in the level 1 of Matrix 2.

Comprises of 3 levels, and one can earn unlimited times from the same matrix. Profit earned every time when Matrix 2 completes: \$ 310 and 1 Rebirth ID in same Matrix

#### 2 DIRECT REFERRALS ARE NECESSARY



LEVEL	MATRIX	AMOUNT	TOTAL AMOUNT	UPGRADE	REBIRTH	PROFIT	DIRECT
1	2	\$45	\$90	\$60		\$30	2
2	4	\$60	\$240	\$120		\$120	
3	8	\$120	\$960	Matrix 4 \$135	1	\$780	

TOTAL PROFIT: \$930 (OnRepeat)

Note: One time \$45 BEP20 deduction for Guider Bonus generation in the level 1 of Matrix 3.

Comprises of 3 levels, and one can earn unlimited times from the same matrix. Profit earned every time when Matrix 3 completes: \$ 930 and 1 Rebirth ID in same Matrix

### 2 DIRECT REFERRALS ARE NECESSARY



LEVEL	MATRIX	AMOUNT	TOTAL AMOUNT	UPGRADE	REBIRTH	PROFIT	DIRECT
1	2	\$135	\$270	\$180		\$90	2
2	4	\$180	\$720	\$480		\$240	
3	8	\$480	\$3840	Matrix 5 \$405	1	\$3300	

TOTAL PROFIT: \$3630 (OnRepeat)

Note: One time \$135 BEP20 deduction for Guider Bonus generation in the level 1 of Matrix 4.

Comprises of 3 levels, and one can earn unlimited times from the same matrix. Profit earned every time when Matrix 4 completes: \$ 3630 and 1 Rebirth ID in same Matrix

#### 2 DIRECT REFERRALS ARE NECESSARY



LEVEL	MATRIX	AMOUNT	TOTAL AMOUNT	UPGRADE	REBIRTH	PROFIT	DIRECT
1	2	\$405	\$810	\$540		\$270	2
2	4	\$540	\$2160	\$1440		\$720	
3	8	\$1440	\$11520	Matrix 6 \$1500	1	\$9615	

TOTAL PROFIT: \$10605 (OnRepeat)

Note: One time \$405 BEP20 deduction for Guider Bonus generation in the level 1 of Matrix 5.

Comprises of 3 levels, and one can earn unlimited times from the same matrix. Profit earned every time when Matrix 5 completes: \$ 10605 and 1 Rebirth ID in same Matrix

# O DIRECT REFERRALS ARE NECESSARY



LEVEL	MATRIX	AMOUNT	TOTAL AMOUNT	UPGRADE	REBIRTH	PROFIT	DIRECT
	2	\$1500	\$3000	\$2000		\$1000	Global Joining O
2	4	\$2000	\$8000	\$5500		\$2500	
3	8	\$5500	\$44000	NO	1	\$42500	

TOTAL PROFIT: \$46000 (OnRepeat)

Note: One time \$1500 BEP20 deduction for Guider Bonus generation in the level 1 of Matrix 6.

Comprises of 3 levels, and one can earn unlimited times from the same matrix. Profit earned every time when Matrix 6 completes:\$46000 and 1 Rebirth ID in same Matrix

### SUCCESS CHART

**EARNINGS CALCULATION FROM TELAR TRITRIX** 

IF YOU COMPLETE 1 CYCLE OF ALL 6 MATRIX, YOU EARN APPROX:

\$ 61680

IF YOU COMPLETE 10 CYCLE OF ALL 6 MATRIX, YOU EARN APPROX:

\$ 616800

IF YOU COMPLETE 5 CYCLE OF ALL 6 MATRIX, YOU EARN APPROX:

\$308400

So, one can earn Unlimited USDT Bep20
With one time small Donation of \$5



How to Start?

#### Get USDT (BEP 20)

You can easily acquire USDT (BEP 20) from the most popular platforms. After purchasing USDT (BEP 20), you can

transfer it to your personal wallet, and then transfer it to TELAR TRITRIX smart-contract address.

Download the wallet app for Browser or Mobile

We recommend to use: Trust Wallet, Token Pocket, Metamask, CoinBase Wallet mobile app.

Send USDT (BEP 20) to our Smart Contract

#### **CONTRIBUTION**

IMPORTANT! Do not forget about block chain fee! You should have 0.0005 BNB more on your wallet, or your transaction will get \*out of energy\* status!

- Minimum contribution amount \$6 USDT (BEP 20)
- We are working only with USDT (BEP 20) crypto currency
- > Your contribution will be activated after 1 confirmation in block chain
- Withdrawal rewards come instantly to your secure wallet balance, which is accessible only to You

#### **Start Earning**

Congratulations. You have joined the unique world of TELAR TRITRIX, You can find all your Profit information on Wallet Statistics page and you can invite your direct partners by your referral link.





# ICIC ET



SELECT FROM FLEXIBLE PACKAGES TO SUIT YOUR PREFERENCES

Big Dreams Start at Just \$3!



# How It Works:

- Once you purchase a package, the timer starts.
- Results will be announced the next day.
- Payments will be distributed instantly to the top result users based on the luck factor.

# Rules & Options:

- Choose any package: You can pick any of the available packages.
- Take all packages at once: Want to maximize your chances? You can opt for multiple packages in a single go!





# Daily Ticket Openings:

- Tickets open every day.
- Results will be declared the following day, so you're always just 24 hours away from potential winnings!

# Transparent Charges:

To ensure smooth operations, a minimal 10% admin charge is applied to payouts:





# Why Join?

- Daily opportunities to win.
- Flexible entry points starting at just \$3.
- Instant payouts for winners.

Ready to try your luck? Buy your ticket now and join the game today!

"Pick a Ticket, Change Your Day!"









# How to Start?



#### Get USDT (BEP 20)

You can easily acquire USDT (BEP 20) from the most popular platforms. After purchasing USDT (BEP 20), you can transfer it to your personal wallet, and then transfer it to TELAR TRITRIX smart-contract address.

Download the wallet app for Browser or Mobile

We recommend to use: Trust Wallet, Token Pocket, Metamask, CoinBase Wallet mobile app.

Send USDT (BEP 20) to our Smart Contract

#### **CONTRIBUTION**

IMPORTANT! Do not forget about block chain fee! You should have 0.0005 BNB more on your wallet, or your transaction will get \*out of energy\* status!

- Minimum contribution amount \$3 USDT (BEP 20)
- We are working only with USDT (BEP 20) crypto currency
- Your contribution will be activated after 1 confirmation in block chain
- Withdrawal rewards come instantly to your secure wallet balance, which is accessible only to You

#### **Start Earning**

Congratulations. You have joined the unique world of TELAR TRITRIX ,You can find all your Profit information on Wallet Statistics page and you can invite your direct partners by your referral link .

